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Tanya is older than Efig

Cliff is older than Tanya/”

Eric is older than CIiff.

If the first two statements are true, the third
statement is

—trhe=
false
uncen’j{\n\

2. —
Blueberries cost more than strawberries. 7 g \
Blueberries cost less than raspberries. “l/
Raspberries cost more than strawberries
and blueberries.

If the first two statements are true, the third
statement is

true

falsi‘n/
uncewtain

3.

All the trees in the park are flowering trees. b@
Some of the trees in the park are \/
dogwoods.

All dogwoods in the park are flowering v )
trees. \

If the first two statements are true, the thind
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If the first two statements are true, the thi \_'/

\ N
sta entis @
e
alse /,

uncertain
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Mara runs faster than a|I. @/

Lily runs faster than Mara.

Gall runs faster than Lily.

If the first two statements are true, the third
statement is

true

false

uncertain

5.

Apartments in the Riverdale Manor cost
less than apartments in The Gaslight
Commons.

Apartments in the Livingston Gate cost
more than apartments in the The Gaslight
Commons.

Of the three apartment buildings, the
Livingston Gate costs the most.

If the first two statements are true, the third
statement is

true

false
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